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Section : Domain Knowledge

Q.1 The batteries reserved for emergency conditions are kept fully charged forever by
employing:

Ans & 1.trickle charging
X 2. constant voltage charging
#< 3. constant current charging

/5 4. float charging

Question Type : MCQ
Question ID : 630680354984
Chosen Option : 4

Q.2 I« #ig ¥HieR (moving iron ammeter) &1 IUANT 519 AC aRRuy & glar &, @t ag zarfar g1
Ans X 1. ¢RI T dTeeifores a1
X 2. 9RT T SitTa A

72X 3. URT T IR ST

o 4. YR HT RMS 71

Question Type : MCQ
Question ID : 630680354992
Chosen Option : 4

Q.3 Vs yhfier & arder, weEe yalHfieR fRa aram™ w ShET ursais verH #var 82
Ans X 1.140°C

X 2.200°C

X 3.180°C

o 4.160°C

Question Type : MCQ
Question ID : 630680355006
Chosen Option : 2




Q4 WWhat is the condition for the maximum torque of 3-§ induction motor?
Ans X 1. The rotor resistance is equal to the rotor reactance at the full load.

&" 2. The rotor resistance is equal to the rotor reactance at the supply frequency.

/5 3. The rotor resistance is less than the rotor reactance at the supply frequency.

X 4. The rotor resistance is greater than the rotor reactance at the supply frequency.

Question Type : MCQ
Question ID : 630680355016

Chosen Option : 2

Q.5 gf&muuma (effect of hunting) M A FAF AT ____|

Ans X 1. Tgre arEfE (auxiliary winding) &1 IUAT foRaT STTaT §

< 2. ufderrt ar8fE (compensating winding) T IUTT AT STTaT &
X 3. for® Wex wWile (skewed rotor slots) T ITAT fhaT ST &

o 4. S1aFicd aEfE (damper winding) 3T IUAT foRaT STraT &

Question Type : MCQ
Question ID : 630680355021

Chosen Option : 4

Q.6 iawITR uR foRar S arer sy aRuy gdteror (Short circuit test) Zargl
Ans o 1. aE e

X 2. =g

X 3.

X 4 bR grT g1l

Question Type : MCQ
Question ID : 630680354997

Chosen Option: 3

Q.7 el Frew fAfSa ufedtues d e, g1, A5ft 3ik eesT - T d e (colour band
sequence) & | afaRter &t Tgrar i ToFT B

Ans w1+ B%
X2 % 15%
X3 + 20%
X4 + 10%

+ H I+

Question Type : MCQ
Question ID : 630680355025

Chosen Option: 2




Q.8 In which part of thermal power plant, the temperature of steam is raised above boiling point

of water?
Ans X 1. Air pre-heater

& 2. Superheater
< 3. Boiler furnace

< 4. Economiser

Question Type : MCQ
Question ID : 630680355036
Chosen Option: 2

Q.9 The power factor of a universal motor is:

Ans X 1.unity at no load
" 2.0.7 t0 0.8 at full load
/< 3.0.7t0 0.8 at no load
X 4. unity at full load

Question Type : MCQ
Question ID : 630680355020
Chosen Option : --

Q.10 STt Tx=rsit 100101 3R 100101 &1 i1 HIfATI

Ans X 1.1001101
% 2.1001001
& 3.1001010
X 4.1001011

Question Type : MCQ
Question ID : 630680355031
Chosen Option : --

Q.11 In distribution transformer:

Ans  # 1. coreloss is less than copper loss
/5 2. eddy current loss is equal to copper loss
/5 3. core loss is equal to copper,loss

X 4. hysteresis loss is equal to copper loss

Question Type : MCQ
Question ID : 630680354999
Chosen Option: 2




Q.12 &2 UfeR V2 & g sifdeaw wheerd y-ufekia _____ giam 81
Ans X 1.50Q

& 2050
X310
X 420

Question Type : MCQ
Question ID : 630680354987
Chosen Option : 4

Q.13 Direct coupled amplifiers are used to amplify:
Ans X 1. audio frequency signals

5 2. very high frequency signals
&" 3. very low frequency signals

X 4.RF signals

Question Type : MCQ
Question ID : 630680355029
Chosen Option : --

Q.14 Fires in deep fat fryers and cooking oil falls in which class of fires?
Ans X 1.ClassB

X 2.ClassC
o 3.Class F
X 4.Class G

S

Question Type : MCQ
Question ID : 630680354967
Chosen Option : 1

Q.15 What is the maximum efficiency of full wave rectifier?
Ans X 1.82.1%

X 2.72.8%
7 3.88.4%
o 4.81.2%

Question Type : MCQ
Question ID : 630680355027
Chosen Option : --

Q.16 SHATH p-n S & fAg, fara AfAeAT (barrier potential) a1 31fSerayd A= gt gl

Ans X 1.04V
X 2.06V
& 3.03V
X 4.05V

Question Type : MCQ
Question ID : 630680355026
Chosen Option : --




Q.17 The frequency of the rotor current of a 50 Hz, 2 pole induction motor is 2 Hz, determine the
percentage slip.

Ans X 1.2%
o 2. 4%
% 3.8%
X 4.6%

Question Type : MCQ
Question ID : 630680355017
Chosen Option: 2

Q.18 & & i 91 fAaw/fAgia DC #iex & qufs fi 2 &t uRanfa swwar &2
Ans X 1. %18 o1 Ugen fAum (Faraday’s First Law)

X 2. wreheg | (Corkscrew Law)

X 3. g & 9 (Coulomb's Law)

o 4. TRATHT T ST g121 T f3e (Flemings Left Hand Rule)

Question Type : MCQ
Question ID : 630680355012
Chosen Option : 4

Q.19 The weight of substance liberated from an electrolyte in a given time is proportional to the
quantity of electricity passing in that time. This is the statement of:

Ans " 1. Faraday’s First Law of Electrolysis
/< 2. Faraday's Third Law of Electrolysis
/X 3. Faraday's Second Law of Electrolysis
/X 4. Faraday's Fourth Law of Electrolysis

Question Type : MCQ
Question ID : 630680354983
Chosen Option : 1

Q.20 In DC generators, the graph between the potential difference at the terminal V and the load
current I, under the given conditions of excitation and speed is called:

Ans  # 1. external characteristics
X 2. internal characteristics
X 3. voltage drop characteristics

/X 4. drooping characteristics

Question Type : MCQ
Question ID : 630680355013
Chosen Option : 1




Q.21 A 20 Q resistance is connected across a supply of 400 V. If a resistance R is connected in
parallel with the above 20 Q resistance, the current drawn from the supply gets doubled.
The value of the unknown resistance R is:

Ans X 1.800Q
X 2.400Q
o 3.200
X 4.10Q

Question Type : MCQ
Question ID : 630680354974
Chosen Option : 4

Q.22 In underground cables, the process of achieving uniformity in the dielectric stress by using
layers of different dielectrics is known as:

Ans X 1.inductance grading
X 2. impedance grading
& 3. capacitance grading
/X 4. intersheath grading

Question Type : MCQ
Question ID : 630680355041
Chosen Option : 4

Q.23 CRO "ifa&xa (CRO probe) =T 3g2a gar gl
Ans X 1.CRO & g4 & & CMMR &t I9d ezl

X 2. fava fars (potential division) & gRT 3= dteedT I ATGHAT
75 3. %ad SR CRO 3AYe &TRAT & iy ufderR et
o 4. UfaaneT gaed &

Question Type : MCQ
Question ID : 630680355030
Chosen Option : --

Q.24 AR =retent (overhead conductors) # fore WehR & Sitel a1 Iu=iw famar Sirar &2
Ans X 1. foerfan sits (Britania joints)

X 2. 8Rs g (Married joints)

o 3. &St (Tee joints)

X 4. -y s (Straight-through joints)

Question Type : MCQ
Question ID : 630680354971
Chosen Option : --




Q.25 When DC machine achieves maximum efficiency:
Ans X 1.machine is fully loaded

" 2. variable losses are equal to constant losses
Z< 3.no load losses are equal to full load losses

5 4. machine attains maximum speed

Question Type : MCQ
Question ID : 630680355014
Chosen Option : 3

Q.26 With respect to wind energy, VAWT stands for:
Ans X 1. Vertically Arranged Wind Turbine

5 2. Vertically Adjusted Wind Turbine
& 3. Vertical Axis Wind Turbine
/X 4. Vertical Action Wind Turbine

Question Type : MCQ
Question ID : 630680355039
Chosen Option : 3

Q.27 The largest size for earthing lead is:
Ans X 1.4SWG

o 2.3 SWG
% 3.8SWG
X 4.6 SWG

Question Type : MCQ
Question ID : 630680354986
Chosen Option : --

Q.28 ¥ T[UT & SRUT UR (Mercury) T SUdRT YwfHiex 7 gaT 82
Ans & 1.3 JUR Ul

X 2. 1fdes ShtaT-ahret

X 3. SS9

X 4. 3T Teich

Question Type : MCQ
Question ID : 630680355010
Chosen Option : 1

Q.29 HPMV du & R Fh a2
Ans o 1. TS USRI

X 2. e e

X 3. &d TepTer

X 4. 0 gepter

Question Type : MCQ
Question ID : 630680354989
Chosen Option : 4




Q.30 The ratio of the sum of individual maximum demands to the maximum demand on power

station is known as:
Ans X 1.load factor

/5 2. plant use factor
/5 3. plant capacity factor
o 4. diversity factor

Question Type : MCQ
Question ID : 630680355044
Chosen Option : 1

Q.31 Which of the following is NOT a part of Digital Multimeter?
Ans X 1. Calibrated Attenuator

X 2. Buffer Amplifier

#< 3. Precision AC/DC Converter

&" 4. Schmitt Trigger

Question Type : MCQ
Question ID : 630680354993
Chosen Option : --

Q.32 The power supplied to a balanced star connected load is:

¢ 1. 3V I; Cosd

Ans
X 2. 3VP IP
X 3. \3Vp IpSing

X 4. \3Vy I; Sind

Question Type : MCQ
Question ID : 630680354982
Chosen Option : 1

Q.33 MR AT g3t & ER, A-4 SRR dreft 15 2fe 6 fomr = gidt 82

Ans X 1.165mm x 240 mm
75 2.625 mm x 880 mm
5 3.450 mm x 625 mm
& 4. 240 mm x 330 mm

Question Type : MCQ
Question ID : 630680355001
Chosen Option : 1




Q.34 15 goy frelt Aiffa ook it 20 R A qrr el &1 25 gow St ok ot fore e & g dd?

Ans X 1.07f=
X 2.10f=
X 3.09fe=
o 41275

Question Type : MCQ
Question ID : 630680355007
Chosen Option : 4

Q.35 When two SCRs are connected in anti-parallel combination, it is called:
Ans X 1.DIAC

& 2. TRIAC
X 3.uJT
X 4.1GBT

Question Type : MCQ
Question ID : 630680355032
Chosen Option: 3

Q.36 Sifat giawmidRd ______ gt /81
Ans o 1. Fhael Qo AIEfaT

X 2. ga uerd & <t angfdn
X 3. fafer ar ¥s1 i &t argfen
X 4 dafEn

Question Type : MCQ
Question ID : 630680355000
Chosen Option : 1

Q.37 A Zener diode has:
Ans X 1.low amplification

«# 2. sharp breakdown voltage
X 3. good rectifier

< 4.acoupler

Question Type : MCQ
Question ID : 630680355028
Chosen Option : 3

Q.38 The phase difference of voltages and currents in three phase systems is:
Ans X 1.90°

W 2.120°
% 3.30°
X 4.60°

Question Type : MCQ
Question ID : 630680354981
Chosen Option : 2




Q.39 The equation of an alternating current is 14Sin1256t, determine the frequency.
Ans X 1.100 Hz

X 2.50 Hz
7 3.150 Hz
o 4.200 HZ

Question Type : MCQ
Question ID : 630680354980
Chosen Option : 2

Q.40 Which of the following methods is NOT used for lighting calculations?
Ans  # 1. Lambert’s Cosine Law Method

/< 2. Watts per Square Meter Method
/5 3. Inverse Square Law Method
/5 4. Light Flux Method

Question Type : MCQ
Question ID : 630680354991
Chosen Option : --

Q.41 Which of the following is pertaining to KVL?
Ans X 1. Voltage source

& 2. IR drops
/< 3. Current source

75 4. Nodes

Question Type : MCQ
Question ID : 630680354975
Chosen Option : 3

Q.42 If the length of a conductor is doubled and the cross-section area is halved, the resistance
will be:

Ans X 1.doubled
X 2. halved
o 3. four times
/X 4. constant

Question Type : MCQ
Question ID : 630680354976
Chosen Option: 3




Q.43 The tendency of alternating current to concentrate near the surface of overhead conductor
is called:

Ans X 1.Corona effect
75 2. Ferranti effect
X 3. Ampere’s law
o 4. Skin effect

Question Type : MCQ
Question ID : 630680355043
Chosen Option : 4

Q.44 The regulator of an electrical fan is wound with:
Ans X 1.nichrome wire

" 2. eureka wire
/< 3. tungsten wire

/X 4. carbon wires

Question Type : MCQ
Question ID : 630680354994
Chosen Option : 2

Q.45 Which electrical machine has the highest efficiency?
Ans X 1. Series motor

X 2. Alternator
< 3. Synchronous motor

& 4. Transformer

Question Type : MCQ
Question ID : 630680354996
Chosen Option : 4

Q.46 A soldering material is made up of copper and tin. If the material consists of 72% copper,
then what will be the ratio of copper and tin in the material?

Ans X 1.7:18
o 2.18:7
X 3.22:6
X 4.6:22

Question Type : MCQ
Question ID : 630680355008
Chosen Option : 2




Q.47 Which material is used to manufacture yoke of DC machines?
Ans  # 1.Castiron

X 2. Galvanized iron
X 3. Steel
/X 4.Brass

Question Type : MCQ
Question ID : 630680355011
Chosen Option : 1

Q.48 geifaees MR & amaw= ______ grR1 fRf3a fovan sirar @1
Ans X 1. gffiwex (thermistor)

o 2. UATRE (thermostat)

X 3. grfa Ret (thermal relay)

X 4. yHfeuet (thermocouple)

Question Type : MCQ
Question ID : 630680354995
Chosen Option : 2

Q.49 A 200V lamp takes a current 0.5 amp and produces a total flux of 3000 lumens. Calculate
the efficiency of the lamp.

Ans X 1.15%
X 2.60%
o 3.30%
X 4.75%

Question Type : MCQ
Question ID : 630680354990
Chosen Option : --

50 3.4 9xor HieT Fr ggIF U7 (starting current) BraET 2 &7
Ans X 1. FuiRdaRT S 109 12 1

X 2. FUiRa RTS8 § 9 7T

X 3. fRuiRaarra =g

o 4. RgRT eI F 58 7

Question Type : MCQ
Question ID : 630680355015
Chosen Option : 4




Q.51 Haehrg dftgar, 2

Ans

X 1. fgydta afy
X 2. g iy
X 3. srferafr
o 4. Tl iR

Question Type : MCQ
Question ID : 630680354977
Chosen Option : 4

Q.52 Which of the following is NOT a type of wiring?

Ans

" 1. VIR wiring

#< 2. Conduit wiring

/X 3. Casing Caping wiring
X 4. Cleat wiring

Question Type : MCQ
Question ID : 630680354985
Chosen Option : 1

Q.53 In a 4-band carbon composition resistor, the fourth band indicates:

Ans

< 1. first significant digit
< 2. second significant digit
< 3. multiplier

& 4. tolerance

Question Type : MCQ
Question ID : 630680355024
Chosen Option : 4

Q.54 As the speed of an alternator increases:

Ans

25 1. the frequency remains constant
X 2. the frequency decreases
&" 3. the frequency increases

X 4. the power factor decreases

Question Type : MCQ
Question ID : 630680355022
Chosen Option : 1

Q.55 'FAST', fA=faf@a o @ fone areel epr dfdye w&u @2

Ans

X 1. ¥, U, gead, Twd (First, Aid, Suitable, Tests)

X 2. w¥, U, gead, fiedce (First, Aid, Suitable, Treatment)
«" 3. %y, s, ©itw, 2139 (Face, Arms, Speech, Time)

X 4. g, e, wftw, fiede (Face, Arms, Speech, Treatment)

Question Type : MCQ
Question ID : 630680354968
Chosen Option : --




Q.56 The clamp meter measures:

Ans X 1.frequency
" 2. current
/X 3.voltage
X 4. power factor

Question Type : MCQ
Question ID : 630680354970
Chosen Option : 2

Q.57 The solid having twelve equal and regular pentagonal faces is known as:

Ans X 1.Icosahedron
/5 2. Pentagon
&# 3. Dodecahedron
/X 4. Hexagon

Question Type : MCQ
Question ID : 630680355003
Chosen Option : 3

Q.58 The form factor for the sinusoidal waveform is the ratio of:
Ans X 1.the maximum value to effective value

#< 2. the average value to effective value
«” 3. the effective value to average value

/X 4. the effective value to maximum value

Question Type : MCQ
Question ID : 630680354979
Chosen Option : --

Q.59 fuweiener uety (isometric projection) & g g9 SITaT 81

Ans X 1. W2 (Hexagon)
75 2. 3T (octagon)

o 3. &g (ellipse)
25 4.3 (cylinder)

Question Type : MCQ
Question ID : 630680355004
Chosen Option : 3




Q.60 On which of the following factors does the choice of site for hydro-electric power plant NOT
depend?

Ans X 1. Availability of water
75 2. Storage of water
& 3. Load centre
< 4. Head of water

Question Type : MCQ
Question ID : 630680355037
Chosen Option: 3

Q.61 af foneft uaTdf wR wte gRT 3= wyuf ufdee, s gem W gff @ & ST gt wirar 8, | uaref
HAQTUIR______ gl ST &l
Ans X 1.7 (flexibility)
25 2. gaeadr (plasticity)
X 3. ufafére emar (reboundability)
& 4. U] (elasticity)

Question Type : MCQ
Question ID : 630680355046
Chosen Option : 4

Q.62 yfaTd hael # Gfef @t (function of serving) 1 I8T ______ ohl TRIAT ahear giar &1
Ans X 1. urfdes amese (metallic sheath)

&# 2. Ta=d (armouring)

X 3. %R (cores)

X 4. G&RT (bedding)

Question Type : MCQ
Question ID : 630680354973
Chosen Option : 1

Q.63 iAwhHR A sfieR (breather) &Y Smaaerar il gid &2
Ans o 1. ST ATcll aRg O T T SN e & forg

5 2. 3 Y foheer & & forg
X 3. sfigem & fag
X 4. Eeidex (conservator) H et @l TR dgM & forg

Question Type : MCQ
Question ID : 630680354998
Chosen Option : 1




Q.64 ufkuy fa=dea aimeh (circuit breaker arc) & uferter # fhd uarR g gt word! 82
Ans o 1. 3T Y TS & gfg eh

< 2. 3k ot mf e

< 3. 31Th ol Tehfed ek

X 4. 3 & x-de § gfg A

Question Type : MCQ
Question ID : 630680355033
Chosen Option : 1

Q.65 fA=fafa@a & & i @ srafffd, of- Hudha e (earth pit) & forg adta a&i &2
Ans X 1. 7ficl qereett A

o 2. U3 Tq1h, TAT TR

75 3.3, ToRT 3R YR o SeT-31eT SrguTd o a1y At qfien Sk g

75 4.3Ae (Loam), fSro® 3d <t @731 &H &t

Question Type : MCQ
Question ID : 630680354988
Chosen Option: 3

Q.66 The rotor of single-phase induction motor:

Ans X 1.is cage rotor or wound rotor
X 2. is wound rotor
X 3.is dual cage

&" 4.is cage rotor

Question Type : MCQ
Question ID : 630680355018
Chosen Option : 1

Q.67 Both sides of solar cells are protected by using thin sheets in case of silicon-based PV
cells. Such sheets are made up of:

Ans X 1.PVC
/X 2. Polythene
« 3.EVA
/X 4. Plastic

Question Type : MCQ
Question ID : 630680355040
Chosen Option : --




fTrer-wetes i Aerd & TaE gt 21

X 2. et thiés eI (single freehand lettering)
X 3. s seforah Thigs @efT (double-stroke italic freehand lettering)
X 4. sI-%Ia thigs @efaT (double-stroke freehand lettering)

Ans o 1. Rt geforen thigs @tefm (single-stroke italic freehand lettering)

Q.68 ______, g thigs geforan el (freehand italic lettering) &, for s ucder s1erR i #iers 9 &

Question Type : MCQ
Question ID : 630680355005
Chosen Option : --

Q.69 What is unit of heat in CGS?
Ans X 1.Celsius

& 2. Calorie
25 3. Kelvin
/X 4. Fahrenheit

Question Type : MCQ
Question ID : 630680355009
Chosen Option: 3

Q.70 On which factor does the power factor of an alternator depend?
Ans X 1.Voltage

" 2. Load
75 3. Number of poles
< 4. Type of alternator

Question Type : MCQ
Question ID : 630680355023
Chosen Option : 1

Q.71 Air used in air blast circuit breaker must:
Ans  # 1.bedry

/X 2. have least carbon dioxide
/5 3. have oil mist
/X 4. beionised

Question Type : MCQ
Question ID : 630680355034
Chosen Option : 1




Q.72 Which of the following is the standard size of set squares?
Ans X 1.30°-75°

% 2.45°-60°
o 3.30°-60°
% 4.60°-120°

Question Type : MCQ
Question ID : 630680355002
Chosen Option: 3

Q.73 rafAE gaehe ol THATE & (wipe off) & fAQ smaae daeh a1 & A4 &Y gl STt

gl
Ans X 1. ¥R gRI I
#< 2. JIhcd aTgh I
X 3. gudhm AT aa
o 4. Fug g

Question Type : MCQ
Question ID : 630680354978
Chosen Option : --

Q.74 A universal motor:

Ans X 1. operates at very low speeds

« 2. can work on AC and DC also
X 3. works quietly

X 4. is 3-¢ induction motor

Question Type : MCQ
Question ID : 630680355019
Chosen Option : 2

Q.75 Why is earthing required for electric appliances?
Ans X 1.To get full current

< 2. To get full power
& 3. To get full safety against eleetric shock

/X 4. To work properly

Question Type : MCQ
Question ID : 630680355045
Chosen Option: 3




Q.76 A distributor is designed from the point of view of the:
Ans " 1.voltage dropinit

X 2. power capacity
Z5 3. current capacity

X 4. frequency variation

Question Type : MCQ
Question ID : 630680355042
Chosen Option : 2

Q.77 fA=faf@a & @ o1 91, sifF-a189 UPS & uRare o1 #is =gl 87
Ans X 1.9EU A (Bypass mode)

X 2. 33t #s (Outage mode)

X 3. Ftfer 7 (Normal mode)

& 4. Siftharg4 |rg (Offline mode)

Question Type : MCQ
Question ID : 630680355035
Chosen Option : 1

Q.78 Adrill press is typically measured by its:
Ans X 1.sweep

X 2. speed
" 3. swing

5 4. hammer action

Question Type : MCQ
Question ID : 630680354969
Chosen Option : 4

Q.79 HieR ufeR f&<ew d, MPPT o1 quf &9 &=m &2
Ans X 1. AfRmw tiaR darsfEn g (Maximum Power Providing Tracker)

X 2. AfeRH dfer Wide TR (Maximum Power Point Trapper)
o 3. AT UieR ufde g (MaximamPower Point Tracker)
X 4. BfeRye dier WarsfET Eur (Maximum Power Providing Trapper)

Question Type : MCQ
Question ID : 630680355038
Chosen Option : --

Q.80 Belted underground cables are used for voltages:
Ans X 1.from 132 kV to 220 kV

X 2. from 33 kV to 66 kV
& 3.upto11kV
X 4. above 220 kV

Question Type : MCQ
Question ID : 630680354972
Chosen Option: 3




Section : General Awareness

Q.1 ulgw 3R ey = FAfafa@a | @ fora g @ wefda 82
Ans X 1.8BTx

K2, 3w

o 3. STBUTTT TR

X 4. sy T

Question Type : MCQ
Question ID : 630680355055
Chosen Option : --

Q.2 fr=fafEa & @ wi= @ wra f 9@ 9t #iS urh areft wepfas sfie &2
Ans X 1. R sfia

X 2. giwR it
o 3. qeR i
X 4 sl

Question Type : MCQ
Question ID : 630680355059
Chosen Option : 3

Q.3 Aumh frwy, g2maaR Al Fefefea d 3 Fa s A a2
Ans X 1. @SR

X 2. aE@TS

X 3. aRmoTEt

o 4335

Question Type : MCQ
Question ID : 630680355054
Chosen Option : --

Q.4 f=fafEa & @ fra o 8, Icaaw < 3 S gamn fF e @i S geeg e ar

Ans X 1. ORI I G
X 2. My
X 3.19. IR, §1E e
o 4. HUAFT TR g

Question Type : MCQ
Question ID : 630680355066
Chosen Option : --




Q.5 uingiy Sgea@d@aidyar, 9 R mn gl
Ans X 1.3H

o 2.9

X 3. Fags

X 4. T

Question Type : MCQ
Question ID : 630680355051
Chosen Option : --

Q.6 The air (prevention and Control of Pollution) Act came into force in India in
Ans X 1.1986

X 2.1974

& 3.1981
X 4.1976

Question Type : MCQ
Question ID : 630680355063
Chosen Option : --

Q.7 In the context of Banking System which of the following equation is correct?

Ans  # 1. Asset = Reserve + loan
< 2. Liabilities = Reserve — loan
< 3. Asset = Reserve — loan

/5 4. Liabilities = Reserve + loan

Question Type : MCQ
Question ID : 630680355057
Chosen Option : --

_—
Q.8 fay RyRerea @« (ac gRaRi@ t) o1 314t dwnor Fafafaa & @ fra 3 & emaifsa
o mrar wur?

Ans X 1. usdls
X 2. 94
o 3.9
X 4 Tt

Question Type : MCQ
Question ID : 630680355049
Chosen Option : --




Q.9 T 99y R et w1 foFaT T 39 FHT WRE T Ta-R SR hi UT?
Ans X 1.3rA ™

X 2. o g

o 3. T diHaTfer

X 4 Aaé aarsa

Question Type : MCQ
Question ID : 630680355053
Chosen Option : --

Q.10 = &u & day # Ffaf@a d & o= a1 y= a8t 82
. g WIRA T TG QR Geaie gatie gl
I1. Tg gfAaT o1 FeRT Hat QR Gedid ghe gl

Ans X 1.%aell
X 2. 1qur 1l =t
X o3 agtlarg
o 4. had |

Question Type : MCQ
Question ID : 630680355050
Chosen Option : --

Q.11 Paalan 1000 National Campaign was launched in August 2022. This campaign is related
with which of the following social issues?

Ans X 1. Women empowerment
75 2. Maternal mortality
o 3. Child mortality

/5 4. Ageing of population

Question Type : MCQ
Question ID : 630680355048
Chosen Option : --

Q.12 WRA &Y FUT 2011 & IR, Fafaf@a 7 @ fora woa & grfior-2rgd femguma J gt
3ifder 3iaR ur?

Ans X 1.3RES
o 2. fgamaa uear
X 3. e H
X A ufgm smer

Question Type : MCQ
Question ID : 630680355061
Chosen Option : --




Q.13 1526 # arer A Rieeft & oo _____ &t uriud & g
Ans o 1. SETleH @

X 2. 3qLEH t@h

X 3. segamAsT

X A TETIE Jh

Question Type : MCQ
Question ID : 630680355052
Chosen Option : --

Q.14 fF=fefEa 9 @ w9 @ goid aFa R gaenis o w82
Ans X 1.guagd (UNEP)

" 2.9.gA.E1d. (UNDP)

X 3. Rdg Rerd da (RBI)

X 4. ST T A (IMF)

Question Type : MCQ
Question ID : 630680355058
Chosen Option : --

Q.15 Rickets is caused due to the deficiency of
Ans X 1.Vitamin C

X 2.Vitamin B
& 3. Vitamin D
X 4. Vitamin A

Question Type : MCQ
Question ID : 630680355064
Chosen Option : --

Q.16 T e FfafEa d @ fra armfSie g2 & efda &2
Ans X 1. YEER

2. @

X 3. ST

X 4. TR

Question Type : MCQ
Question ID : 630680355047
Chosen Option : --




Q.17 Ffaf@a 7 @ w4 @ alkal sro- dard & ged o (Ta9 B 9 gad &) A ad an @
AT &?

Ans X 1. g < T < Meras
o 2. TTierad < 7 < Ry
X 3. T < TieTeRt < Ry
X 4. T < iy < eresy

Question Type : MCQ
Question ID : 630680355060
Chosen Option : --

Q.18 ¥R d@fyur @ fafaf@a 7 @ wi a1 srg=ds ‘wToT 3iik Afge Tadsrar o1 TR&TUr 1 aTae

FRAT?
Ans X 1.3/ e 19
X 2. 3rgeE 20
o 3. 3T 21
X 4. agese 22

Question Type : MCQ
Question ID : 630680355065
Chosen Option : --

Q.19 FR=fefaa d @ w4 @ & waw 82
Ans X 1."R1

o 2. T4l

X 3. Foheft

X 4 U

Question Type : MCQ
Question ID : 630680355062
Chosen Option : 4

Q.20 “speifees ifie o1 fRamTg” foRst @ ITeT 87
Ans X 1. gyzend dfear

X 2. AR

o 3. e

X 4. eI e

Question Type : MCQ
Question ID : 630680355056
Chosen Option : --




